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OXNIAEEE AN d223 n=(186Y)
5,000,000& 5,000
S Atell &2l AL oI AHl K& 31,116 0 31,116
= 15,558
Al 15,558
101 14 Hl 31,116 0 31,116
= 15,558
Al 15,558
04 JIZHHZ2Z2XREE S 31,116 0 31,116
OSEAd 22l AL X2 (1E) 31,116,000& 31,116
= 15,558
Al 15,558
SEAd 2l 2 2,000 0 2,000
202 oddl 2,000 0 2,000
01 = LH &4 1l 2,000 0 2,000
OAtdl2el SR+ 2,000,000& 2,000
RPetEsdH 29 89,200 168,470 AT9,270
< 45,200
Al 44,000
201 Let2d] 7,000 7,000 0
< 3,500
Al 3,500
01 At 2teltl 4,000 4,000 0
ORe=sHH2Y AIR22ltl 4,000,000& 4,000
< 2,000
Al 2,000
02 8322l 3,000 3,000 0
OfstssdH2YE 22293l 3,000,000& 3,000
< 1,500
Al 1,500
202 odl 2,000 2,000 0
< 1,000
Al 1,000
01 = LH o4 1l 2,000 2,000 0
ORe=sSHH A=A HI 2,000,000& 2,000
< 1,000
Al 1,000
301 g2 4= 1,200 0 1,200
< 1,200
01 A3l EE E 56l = 1,200 0 1,200
ORst=sS At 22l AL HRI4& 8l 1,200,000 1,200
= 1,200
307 21201 A 79,000 75,000 4,000




2N
D XAE S TIHA 2

el

X ZH
S =

EOIMERAD

KA A X018 2=

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 39,500
Al 39,500
05 RIZHRI &3 79,000 75,000 4,000
OfstEs UEHAIE =29 79,000,000& 79,000
< 39,500
Al 39,500
N2 SEAd 22 & 10,000 10,000 0
= 5,000
= 750
Al 4,250
201 Let24d] 3,000 3,000 0
= 1,500
< 225
Al 1,275
01 At 2teltl 3,000 3,000 0
OAtell2el AtR2eldl 3,000,000& 3,000
= 1,500
= 225
Al 1,275
301 LtE L= 7,000 7,000 0
= 3,500
< 525
Al 2,975
01 A3l EE E 56l 3 7,000 7,000 0
OAtell2el At bl 7,000,000& 7,000
= 3,500
= 525
Al 2,975
MESD2AEM JLIHY 29 3,700 3,460 240
201 Let2d] 1,000 2,500 A 1,500
01 At 221l 1,000 1,000 0
Os&E=s ¢ 8% MH 1,000,000 1,000
301 L2 A= 2,700 960 1,740
09 EAAHIE &S 1,500 0 1,500
ORUHY 35 75,0003 x 109 *23| 1,500
11IIEtEAS 1,200 960 240
OZLHS 3o EA&Z 10,0002 +10F 122 1,200
A22HE YeHE 29I 3,600 3,600 0
201 Let24d] 3,600 3,600 0
01 At 2teltl 3,600 3,600 0
OL2QHE B 2 3,600,000& 3,600
HASE st W=EH A& 8= X2 4,073 0 4,073
< 4,073




2N

EOIMERAD

H: XNSAMSSXHMA EE
S XNAAMG SXIIEL 25 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
101 2124 4| 3,585 0 3,585
= 3,585
04 JIZtHI2E2XNSE 3,585 0 3,585
Oun=sd AF &8 o2 3,585
-Jl23 1,582, 130& »2H 3,165
= 3,165
-2tANH| 60,000& x2H 120
& 120
-AlZ2E 2 22Y 150, 000& *2H 300
= 300
201 LBt A H| 488 0 488
o= 488
01 At 22l bl 488 0 488
OnsYl XN ME 8 =X 488,000& 488
& 488
ZCYW3 MY 29 43,800 24,000 19,800
< 7,200
Al 36,600
307 QI2t0| ™ 43,800 24,000 19,800
< 7,200
Al 36,600
10 Al SXAIE8E2IHIEX 43,800 24,000 19,800
OZCc8 3 olAHAdl XI& 34,200
-ACIUOoIH 1AHBI(1E) 27,600,000& 27,600
< 7,200
Al 20,400
-AIEE X elAY| 200,000& x12& 2,400
-XEFE X oAy 350,000& 128 4,200
OFCe AIEXA 9,600,000 9,600
Al FEWMT SAHA AU X 600 0 600
& 600
301 et A= 600 0 600
== 600
01 MSIEXEE G2 600 0 600
OAT ZEEYWT AN HLMAH (1H)
600,000 600
& 600
Mol s Hl X& 7,740 240 7,500
201 et A | 7,740 240 7,500
01 AtR 22l bl 7,500 0 7,500
OXNZ& ALY SOl EXEZ H&
300, 000& *25JH A~ 7,500
02 3524t 240 240 0




2N
D XAE S TIHA 2

el

X ZH
S =

EOIMERAD

KA A X018 2=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMH RS ENAIAE SHTI| XU
20,000& «12& 240
M2ASXSAL H2HA KA 28,720 26,264 2,456
< 6,860
Al 21,860
201 £B-2%H| 15,000 10,000 5,000
03 A2 Z Hl 15,000 10,000 5,000
OAZISEXIA S AELE AAS
15,000, 000& 15,000
301 et Aa 3z 13,720 16,264 A2,544
< 6,860
Al 6,860
1MIIEBESS 13,720 16,264 A2,544
OAMII=XA EwSH XI& 48,0002 x240H 11,520
< 5,760
Al 5,760
OAtg| S XA o2 &Hl XI& 10,0003 x220H 2,200
< 1,100
Al 1,100
AtBIZ Xl A2 HA XA 7,000 7,000 0
307 21201 A 7,000 7,000 0
11T M3 SXASEEX 7,000 7,000 0
OAMEI=XI2 & JI8dA XI& 3,000,000& 3,000
OAMBI=XIAL TH3l XI& 4,000,000& 4,000
ZALOIOL & A X & 28,800 28,800 0
307 glz2+0l & 28,800 28,800 0
11T MISRASEX 28,800 28,800 0
O&EALGIOl A XI& 28,800,000 28,800
SHE XEFE ML XA 67,200 42,000 25,200
= 47,040
< 3,024
Al 17,136
201 et 33,600 21,000 12,600
= 23,520
< 1,512
Al 8,568
01 At 22l 33,600 21,000 12,600
OSH8 & AtdlZel AtR2eltl 33,600,000& 33,600
= 23,520
< 1,512
Al 8,568
301 et d = 33,600 21,000 12,600
= 23,520
= 1,512




SN FUSEX W
3 NSA=SAHA &
S XS Ae S0/ 25 (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 8,568

X =0z 33,600 21,000 12,600
S Ardl &2l Ar 33,600,000& 33,600

23,520
1,512
8,568

= W

ZIIE NGASEEEZA XA 12,000 0 12,000

3,600
8,400

= M

308 MHtXIEHMSOIH 12,000 0 12,000

3,600
Al 8,400

H

10 37 2S0HUSIA4EAS AL 12,000 0 12,000
O401 XNSMEFHE AR ZAEIE
12,000,000& 12,000

3,600
8,400

= M

L=e SXX# 2,061,513 1,955,901 105,612
1,320,081
527,334
214,098

=z N W

-
H
e
>
X
(il
=}
[==

478,480 478,480 0
382,784
47,848
47,848

= W

307 glztol & 478,480 478,480 0
382,784
47,848
47,848

= W

1A S XA 2 = 478,480 478,480 0
OL=0THEANE 4A=0 478,480,000 478,480
382,784

47,848
47,848

= N W

C=0AE 2SEH(==SATHERLAEXR) 1,303,878 1,252,491 51,387
912,732
391,146

oW

307 21201 & 1,303,878 1,252,491 51,387

912,732
391,146

o

10 A SAAIEHISSHIEX 1,293,378 0 1,293,378
OL=QTHEALE 29| 1,293,378,000& 1,293,378

905,365
388,013

1A SXAIE E = 10,500 1,252,491 A 1,241,991

OL=THEAE M

o

flfor
[H
HU
|
0
M0

o
o

10,500, 000& 10,500




2N
X ZH -
L= B

el

ME T D
NEE B

=0l SXXE

H = 4
> 12 e

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 7,367
& 3,133
E=0AE KNNE(=SUATHEQRQAAALEXH) 120,725 217,430 N 96,705
== 36,218
Al 84,507
307 2Iz2t0| A 120,725 217,430 N 96,705
= 36,218
Al 84,507
11T A EXAIEEX 120,725 217,430 N96,705
OE=QTHEAAE XKEI (1)
120,725,000 120,725
& 36,218
Al 84,507
=0 THEAIE SAMA S22 12 82,800 0 82,800
= 24,840
Al 57,960
301 et A= 82,800 0 82,800
o 24,840
Al 57,960
01 Al E& A %52 82,800 0 82,800
OL=OTHEAL BAX S22245 T 2(
1A ,259) 82,800,000 82,800
== 24,840
Al 57,960
Lol HEAL BAR MM X 15,000 0 15,000
= 15,000
301 et A= 15,000 0 15,000
= 15,000
01 Al E& A 252 15,000 0 15,000
OL =0 HEANE SAXH MM &Ll XK (1H
A, 259) 15,000,000& 15,000
= 15,000
AKX ES 11,500 7,500 4,000
301 et A= 11,500 7,500 4,000
11 J|EtE A2 11,500 7,500 4,000
Odidet At dlaH & 2ty 300,000& x3H 900
Odied X HE LI 50,000 12 600
OR9HAD AFSHX & A ] 2,000,000 x5 10,000
L=0AE JIsE2 49,130 0 49,130
= 24,565
o=t 12,282
Al 12,283
307 2Iz2t0| & 49,130 0 49,130
= 24 565
o 12,282




SN FOMEXAD
2 NSAMSXMA &
Sl Lm0l 2NN (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 12,283
11T MISXASEX 49,130 0 49,130
OL=0A4 JIsEL (S YT A
49,130,000& 49,130
= 24,565
< 12,282
Al 12,283
HY2HIH (FUHEX A1) 230,608 137,768 92,840
= 31,116
< 43,308
Al 156,184
Jl2ZH(F2 M X & D) 78,960 77,120 1,840
Jl2ZHI(F2 M8 X 2 1) 78,960 77,120 1,840
201 £B-2dH| 22,000 22,000 0
01 At 22/l 22,000 22,000 0
OFRNM2I AR 22l 22,000,000& 22,000
202 044l 49,920 49,920 0
01 = LH o4 1l 49,920 49,920 0
OJlege+a8ntl(26Y) 49,920,000 49,920
203 ¥R =&l 5,040 4,200 840
04 FNSEHE=LH 5,040 4,200 840
ORN2YIRFAHI(34Y) 420,000 123 5,040
405 RHoHF S HI 2,000 1,000 1,000
01 AL EZFH S 2,000 1,000 1,000
OMEH X ¢ 200,000& 104 2,000
OlARA(F UM E X D) 151,648 60,648 91,000
= 31,116
< 43,308
Al 77,224
SE A ZEI AL QA X2 (SEAte2el RIS 62,232 60,648 1,584
22X 2lAdl)
= 31,116
Al 31,116
101 @124l 62,232 60,648 1,584
= 31,116
Al 31,116
03 RIAHAZZ T E =+ 62,232 60,648 1,584
OSE At &l AL 124l (2Y) 62,232,000 62,232
= 31,116
Al 31,116
S&tAtel 2l oAbl X2 (XhAl) 2,800 0 2,800
101 @144 dl 2,800 0 2,800
03 RIAHAZ 2B+ 2,800 0 2,800
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86,616

86,616

86,616

H3r
Wikd
RIS

Off &t 24

2,800

86,616
43,308
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86,616
43,308
43,308
86,616
86,616
43,308
43,308

H

Al

H
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2
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[und

2l %2

i

700,000

erAdl X&

S=dH
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=
e
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=
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03 RIHAZ 22

Al




